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BAB IV
RESEARCH FINDING AND DISCUSSION 
A. Research Finding 

As it has been mentioned previously, the teacher wanted to know whether. There was different result between the seventh grade students who were taught using hidden word game of teaching and who were taught without using hidden word game to teaching vocabulary. 

The result of the test was presented as follow:  
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The mean of pre test and post test from control group and experimental group were: 

For the control group 




For the experimental group
Pre test 
= 111,5:40 = 27,88 


pre test 
= 1190:40 = 29,75   

Post test 
= 1380:40 = 34,5 


post test 
= 3565:40 = 89,13
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T count = 9,95 

T table = 1,99 

With level significant 0,05 
So, t count (9,95) > t table (1,99) 

Based on the statistical analysis using t-test, it shows that t-table = 1,99 and t-count = 9,95 (t count > t table). Therefore, the Ho (Null Hypothesis) is rejected; on the other hand Ha (Alternative Hypothesis) is received. It can be concluded that there was a significant effect of using Hidden Word Game to improve vocabulary mastery of the seventh grade students at SMPN I Munjungan Trenggalek is effective.     
B. Interpretation 

Based on the data analysis above, the statistical value of t-test was 9,95, while the critical value of t-test with the degree of freedom 78 and the significant level 5% was 1,99 it’s showed that the statistical value of t count (9,95) was higher that the critical value of t table (1,99). It means that the alternative hypothesis was accepted and the null hypothesis was rejected. It can be concluded that there was a significance effect of using Hidden Word Game to improve vocabulary mastery of the seventh grade students of SMPN I Munjungan. In other words, the students’ score of the students who were taught by using Hidden Word Game was better than those who were without taught by using Hidden Word Game. 

The conclusion was using Hidden Word Game as the media of teaching vocabulary mastery was effective to improve the students vocabulary mastery abilities with the relative degree of effectiveness 95%. Beside that, teachings by using Hidden Word Game improve students’ interest.  
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